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HRT -1/ PART -1

[3]

[A]

919 fae Td {31eemes / CHILD DEVELOPMENT & PEDAGOGY
[Adsr : [=itee gedl % G737 % [ qa] S [A%e g

Direction : Answer the following questions by selecting the most appropriate option.

1.

Frifed & | #F-d1 daeq guis
e A AT F HaEg w7

(1) dimdfte sAferm

(2) e St

(3) Hfce o

(4) sarm sREn

BEE & TGN AeM & sl @
‘R TR # g-faER, TREEd &
I b @l Feifed § 8 |
HIET & TIJA © 7

(1) fqeama s Sfaead

(2) @A g9 9 Td Hae

(3) UBH I MUY g

(4) Y& STH 4fFR 99 (Role Confusion)

fepemdl 1 7& Hegd HTN G@H A AR
g @ ¥ @ e & o g @

(1) e g

(2) FEEF I

(3) TR SErE

(4) gt sErEr

AIHgFT  FeR a9 (Applied
Behaviour Analysis or ABA) f=ifed &
q fore Rrsia ox oneiRa & °

(1) e Srgdes
(2) fopam o ergeed

(3) dAmdfte s
(4) FRieTomeTs oIt

Level-3/3309

1.

Which of the following concept is
derived from famous 'Bobo Doll'
experiment ?

(1) Insightful learning

(2) Observational learning

(3) Moral development

(4) Conditioned response

The age range of Genital Stage of
Freud's
development is similar to which of the
following stage of Erikson's theory of
Psycho-social development ?

theory of  Psycho-sexual

(1) Trust vs mistrust

(2) Autonomy vs shame & doubt

(3) Initiative vs guilt

(4) Identity vs role confusion

The feeling of adolescents, "Everyone is
looking at me", can be termed as :

(1) Personal fable

(2) Imaginary audience

(3) Anorexia Nervosa

(4) Bulimia Nervosa

Applied Behaviour Analysis is based on
principles of :

(1) Classical conditioning

(2) Operant conditioning

(3) Insightful learning

(4) Observational learning

P.T.O.



[A]

5.

g1 R W gE HECl [ A yeiaE
el o et Q@ BT &, &1 S ST
g

(1) T s
(2) HAE 90
(3) SMcH &

(4) SATcHIgETEA

e oferm % 9] d@l & g8

HH FM L ?

(1) g — AR — gROT &I
%g

(2) SEYH — gROT BT — JASAEA
— AT

(3) HIYE — TTHURT — RO BTl

(4) TFIN — RO HET —  ARWRET

freifed & @ @9-T FH IS ®

G [ & fsid & ded § 98

T g

(1) 98 39 HgaT W oeid ® %
foepe T Saaq ufear 2 |

(2) TE 39 HAT W oNeag & % 9=
g Ud STeHEIReT 810 dRad
gl

(3) T& 3 A W NgiRg 2 %
foepr sk Tad ufsea 2

(4) 98 3@ HEAT G oMERg 2
G {9 a1 aXen & & 2|

Level-3/3309

[4]

5.

6.

7.

"Young teen-agers often believe that
they are completely unlike any one

else.' This phenomenon is known as :
(1) Personal fable

(2) Imaginary Audience

(3) Self realization

(4) Self disclosure

What is the correct sequence of four

elements of observational learning ?

(1) Attention —  Motivation —

Retention — Reproduction

(2) Attention —  Retention —

Reproduction — Motivation

(3) Attention — Reproduction —

Retention — Motivation

(4) Attention - Retention -

Motivation — Reproduction

Which of the following statement is not
true about the theory of cognitive

development given by Jean Piaget ?

(1) It believes that development is a

discontinuous process.

(2) It assumes that children learn
through assimilation and
accommodation.

(3) It believes that development is a
continuous process.
4 It

development takes place in four

believes that  cognitive

different stages.



[5] [A]

8. ST & (?lﬂ) P HHeI, TH AT 2 8. The concept of 'Life Space' is a part of :
(1) e GFJ}I?F{ EA (1) Classical conditioning
(2) TR qgd GTZIFI‘%FT EAl (2) Operant conditioning
(3) Sidefte S & (3) Insightful learning
(4) e &= f=ia & (4) Lewin's field theory

9. THNED grisiQrM Ug 2§ 7 qEg § 7 9. What is the relationship between negative
(1) 2R Feei Biljﬁb_QT 2 q5e T ¥ reinforcement and punishment ?

(1) Both tend to strengthen a response

(2) 2T FRET STIRRAT T FEEIR F © |
(3) THRIHF YA Rl Srfear @l

(2) Both tend to weaken a response

(3) Negative reinforcement strengthens
a response whereas punishment

1 BT A & | weakens a response.

(4) THREHD AT G ST (4) Negative reinforcement weakens a
PR AT & S g€ [l response  whereas  punishment
aﬁm Gl FACEIR 21 strengthens a response.

10. I} wH FRAT &l gRT Bzl %Ef 10. If one activity occurs more often than

another, it can be used to reinforce the

activity that occurs less often. This

S| 78 Frm principle is known as :
(1) 5% P R (1) Premack's principle
(2) gHERES & fHEd (2) Thorndike's principle
(3) RTY &1 fgia (3) Skinner's principle
(4) A & RS (4) Pavlov's principle
11. =il & @ #9-@r Rew ofduw 11. Which of the following is not an
g:ﬁja:[ H IS T8 T 7 example of fixed interval schedule of

reinforcement ?

(1) Getting salary every month

(2) TH T HGX SEA B
(3) oTafas &9 & -9 & g
(4) Ufoay da-gls e

(2) Dialing a busy number
(3) Having a periodic dental checkups

(4) Getting increment every year

Level-3/3309 P.T.O.



[A]

12.

13.

14.

frefafeg & @ f9-a1 fageq offesH
W fegaiEy & faua 78 & ?

(1) 3@ AR G # awen
(2) T oTafhar § TEe

(3) qMfsEs®d AR IR gEiyer f
qEE

(4) TEHTHE /AEN TS

fFY S oTUMT HiEEd H9Y SeddY 9 497
foram | =9 foRpdl 9 SEeR T X 9Bl
e 9% R 9N ofF & AE & U
TR HROT e § & &1 T ©

(1) &

(2) JEdERRT g
(3) T

(4) 9L

fr=iifhd & @ F-91 FOF aEIEH B

qHS-Aipis S & dad § 92l 78

g7

(1) o= S ®@ @, o1 "eEa &,
T & T ¢, 3¢ B gC d agd
FY GEd 2 |

(2) Tees e &1 o, 39 [asid @
TH 9T B |

(3) T8 qH b GEHRES O |
% Hewd el Yl & |

(4) g8 GINTHS O d 9Eel wd

HEHIT 1 GHE T I ol ¢ |

Level-3/3309

[6]

12.

13.

14.

Which of the following option is not a

characteristic of Autism Spectrum
Disorder ?
(1) Problem in vision and hearing

Problem in social interaction

2
3)

Problem in verbal and nonverbal

communication

“4)

Repetitive behaviour

Kim changed her mobile number; and
got a new number. When some-one
asked her new number she could recall
only three digits of her new mobile

number. The cause behind it may be :
(1) Decay

(2) Proactive Interference

(3) Suppression

(4) Regression

Which of the following is not true about
the socio-cultural theory of Vygotsky ?

(1) Children learn very little from
performing tasks they can already

do independently.

of Zone of Proximal

(2) Concept

Development (ZPD) is a part of it.
3) It

language in cognitive development.

ignores the importance of

(4) It emphasizes role of socio-cultural
environment in cognitive
development.



15.

16.

17.

18.

H & A & AgAR, FEied § A
PIF-H1 TSI &5 F UF S0 787 & ¢
(1) SrgFam

(2) Taeereor

(3) Heaiwor

(4) SR

HRaeh & di-hed dicad & ERT it
§ ¥ Be-a1 w1 kT g8 a7

(1) AR qREwR

(2) A

(3) GHRI FHEN

4) gt Td oo

P ol & fRarew & e #
frifed & & F9-@1 Fa9 @@ 7@
g7

(1) 7 9 B & 0% TR ¢ |

) famEas & W fReR S gfE
W A & g8 % H e 2 |

(3) 38 AMYH & SO TR BEA
ST Bl 2 |

(4) =9 AR® & SOF AW R
ST Bl 2 |

U AR T HegH HYT © b AT T
SHE O T 9 e 7 E R R
TE NS © -

(1) HIAE 396 B

(2) T He® B

(3) ATH-UIET /9=
(4) YA HHe FH

Level-3/3309
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15.

16.

17.

18.

[A]

As classified by Bloom, which one of
the following is not a subdomain of
cognitive domain ?

(1) Application

(2) Analysis

(3) Synthesis

(4) Responding

Which of the following is not controlled
by pre-frontal cortex of brain ?

(1) Body Movement

(2) Thinking

(3) Problem solving

(4) Vision & Hearing

Which of the following is rot true about

Day Dreaming among adolescents ?

&)
2)

It is a form of active play.

The roles adolescents adopt in day

dreaming are heroic.

3)

It involves more physical activity

than mental.

“4)

It involves more mental activity

than physical.

A teenager feels that no one has ever
been as deeply in love as he is. It

indicates :

(1) Imaginary Audience
(2) Personal fable

(3) Self identity

(4) Identity crisis

P.T.O.
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19.

20.

21,

22,

gl ‘TH e F B8 ud gEl e H
e oW i § 9 fRE TR &
28 P garH e 8 7

(1) JUFM - 9RER &8 &l

(2) URER - URER & ®I

(3) SUFH - IUFH EE I

(4) 39 JUMH - URER &3 @I

SHGASY & ‘URRfRE 9 & i
% AR e § @ SF-91 a9 &
‘Teq &’ H afed 78 © 7

(1) foemeg
(3) LA

(2) 9™
(4) fq Rart

TR & 899 4 Mg § 8 -0
T TEl F@T © 7

(1) g8 Read &1 0% TR 2 |

(2) T8 98T Faer H gha &Xar 2 |
(3) T UH BB IEUF © |

4) T8 A F 3T B & QR

T B |

LRI w1 fay R G
2

(1) f&d T "= g
(2) B T ed BN
(3) T T gL EW
(4) aeET wd I ER

Level-3/3309

[8]

19.

20.

21,

22,

The phrase, 'six on one hand, and half a
dozen on other' best describes which of

the following type of conflict ?
ey
2
3)
“)

Approach - Avoidance conflict
Avoidance - Avoidance conflict
Approach - Approach conflict
Double

conflict

Approach - Avoidance

According to Ecological systems theory
which of the
following does not belong to Macro
system of the child ?

of Bronfenbrenner,

(1) School (2) Values

(3) Laws (4) Customs

Which of the following is not true about

areward ?

(1) Itis atype of bribe.

(2) It increases desirable behaviour.
(3) Itis a pleasant stimulus.

@) It is

response.

given to strengthen the

The 'investment theory of creativity' is

given by :

(1) Binet and Simons

(2) Carrol and Cattle

(3) Sternberg and Lubart
(4) Watson and Ryner



23.

24.

25.

26.

‘o B 3@ O § S O el
FM, B UF WY Hadl OF & BN
fefqe & & 1

T FE [Tifhd § @ fh9 @S
frepray @l oTaeen @ TaH AR § 7
(1) Gadl s ST

(2) Td SR e

(3) i Hicharcas e

(4) Sfveniies Gfparcs STaw

feifed § @ foe  d-A=mET &
eI AT S & 7

(1) e oo

(2) PR e

(3) flo WHd B

(4) dlo Tho X

frifed & @ @M-w1 Reoiwaen &
aufee fide &1 e 787 8, 9 %
TdlhE &R Jamn T 8 7

(1) oTesiaE

(2) ar-fqarE @ ught

(3) G /e

(4) fafarear @ ygfd

Frtifed & & -1 Reor e
Apdie 787 © ¢

(1) T9e SoIE

(2) YRS

(3) @i

(4) w&eH

Level-3/3309

[9]

23.

24,

25.

26.

[A]

"At this stage of development, children
think with their eyes, ears, hands and

other sense organs."

The above statement best describes

which of the following stage of

cognitive development ?

(1) Sensori motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage

Which of the following is the founder of
Child Study Movement ?

(1) Alfred Binet

(2) Theodore Simon

(3) G. Stanley Hall

(4) B.F. Skinner

Which of the following is not a form of
thinking
adolescence as proposed by Elkind ?

(1) Idealism

immaturity  of during

(2) Argumentativeness

(3) Assertiveness

(4) Specialness

Which of the following is not a
democratic teaching strategy ?

(1) Problem solving

(2) Project

(3) Discovery

(4) Demonstration

P.T.O.



[A]

27.

28.

29.

30.

dFen® a1 R ™ wE W R
frsf@ & #A-a1 Fem gAeaaa @
Hehed T & g ©§ ¢

(1) IYENT a1 e

(2) FIUERT &

(3) g9 & e

(@) Ferar () e

AT uh el R e @

(1) gfe afmr 3o a=at & fo

(2) A e g q== & o
(3) T=AT TERHeT yifad & forg

(4) dfeh T JH a=dl & oY
¥ gfa w1 Fefafad § @ @A
Heheh FaTH o 7

(1) gia T § 103 3% 9 HTT
(2) Wi G Fladr TS B

(3) S IS U HEAT

(4) g=UIYYl & YR @HM T HBl A
BT

UH T HIAG BhL SfUY Heulel @l
3% Ul YHR ARGl & 99T 39 3gd =Y
T 3T G & A 2| TE FaRIT B

(1) fopam gga STee &
(2) T AT A
(3) FFemmeHs ST
4) ATERe AfEH ol

[10]

27.

28.

29.

30.

Which law of 'Trial and Error' given by
Thorndike is similar to the concept of

reinforcement’ ?

(1) Law of Use

(2) Law of Disuse
(3) Law of Effect

(4) Law of Readiness

'Modelling' is an effective teaching

method for :

(1) Children with visual impairment
(2) Children with learning disability
(3) Acid Attack Victims

(4) Children with intellectual disability

Which of the following is best indicator
of high intelligence ?

)
2
3)
“)

Scoring 103 on an IQ test
Reciting poem from memory
Earning high grades

Not making the same mistakes after

receiving feedback

A child angrily hits a playmate in the
same way that he has been punished at

home. It is an example of :
(1) Operant conditioning

(2) Classical conditioning
(3) Observational learning

(4) Insightful learning

Level-3/3309
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[11]

[A]

A (R= @d $i3sh) / LANGUAGES (HINDI & ENGLISH)

[ &1 / HINDI ]

@1 : =i go7] % e @7 @ [T qa8 SfEd [dweq giae

31.

32.

33.

34.

il gfte & ofgeE 9= BifeT
(1) wemEE
(2) @¥fhd
(3) AT
(4) Prar

qfv #1 3fte ¥ org7T faebed gie
(1) @F + 9% = qER
(2) fasg + = = fasa=

(3) TEE + O = TEAAR
(4) 9T + 197 = A

yod St | g faehed e
(1) M1 + =g

(2) 39X + T =Ty

(3) WM + 7 = Afmg

4) fafire + 7 =3

T ogfe § - e o
g7

(1) 9d &1 9oiid = 9 Joiid

(2) 9aT H T Tl el = Y]
(3) @8 Sl =g A AT B = =LA

(4) FHMER % 0 0 = FHERYE

Level-3/3309

35.

36.

37.

38.

Uhae 8 Sgaee a4 9= H o7FTT
Bifeu

(1) sl

(2) Tt

(3) gt

(4) et

e fasbed d ‘o AYET WHM A
R BT B 7

(1) "
(3) Tderd

(2) fefqea

(4) FHSH

FR T FE 29 W & - a9 F 9P
A T
(1) Fyggam=s (2) ANYEIaES
(4) JoHarEh
9w @ § e @ BHE-HE-a
g7

(1) i o) q==

(2) i, g SR FR®

(3) ff oiR #R®

(4) I, aeF Ud gey

(3) u9arEH

P.T.O.
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39. 59 9= ¥ ‘qUivy o A’ &l GIN

40.

41,

42,

TET & & 7

(1) s

(2) 4B~

(3) TeHE

(4) =BT

Te R A d A BT B - I
a9 @i gite § Ry ST &
ara® 2 7

(2) IAEET

(4) &0 @ B T

(1) etz
(3) I
f=1 4 @ o foed & Sk aes
e B 7

2 g

(4) g«

(1) &g
(3) T

FROBRE P qH G

(1) FME GH 9 9 Bt 2 |

(2) 3 fomr Em M R

(3) afer TS | Feereh Fre 2 |

(4) 39 9EH B 7 UF F= H WA
goe | T |

[12]

43.

44,

45.

qu-fax @ e | oI faeed

g -

() @ & ©F § I=d & qa9 @1
% I 4 M @Y S@ & ofER
W dH @ #Ead & Se
- ®=&M & S=Ra @
feme =X & am @ M =
FYHRT @ FEA ¢ |

2) FTER @S H TP §; TEE
T @R A T 2 |

(3) o1 @ & I=RT ¥ gar T 9
T g @A g@ A4 e o
S B9 @ & SERe {4y
g & re-qry A § e
g 3% ‘TRIAIa® @ el S 8 |

(4) =8 qoimen § 9 ¥ § & aof o
g e T 8 F F omfe v wmyt
et 2 |

BAAHY SR UH-gE H THH o
Siiad e Bl ST - I e fhd
FT q Gae 8 °

(1) BYegHe s (2) Hred i
(3) 9Mg Aia=q (4) |y aaHe

‘RIS H JETTRA bl gie | H
4 @87 (STRIE) %A are e &

(1) foretea, op¥, aRife], &1o1

(2) &I, ¥, Fdifd, forree

(3) ¥, Fdifd, foase, &

(4) aFAif, ¥, foase, afor

Level-3/3309
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[A]

[ 3T3STl / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Choose the word in which the prefix

dis — is incorrectly used :
(1) Disbelief

(2) Disobedience

(3) Discomfort

(4) Discussion

Complete the sentence using the correct

option :

George has travelled alot. He ............

speak four languages.

(1) may (2) can

(3) need (4) must not

Choose the correct option for the blank

given :

He found her blue ford escort in the car
park. ............ vehicle was locked and

the lights were off.
(1 A (2) An

(3) The (4) zero article

Level-3/3309

49.

50.

51.

52.

They rested when evening came.

The underlined group of words in the

above sentence is a/an :
(1) Adjective clause

(2) Noun clause
(3) Adverb clause

(4) Conjunction clause

Choose the word with the incorrect
suffix 'ship':

(1) Friendship (2) Membership
(3) Relationship (4) Argueship

Which of the options given below is the
correct indirect form of the given

sentence ?

He said, T have passed the examination'.

(1) He said that he had passed the

examination.
(2) He told I have passed.
(3) He said he must have passed the

examination.

(4) He informed us of his passing.

Choose the correct synonym of the

word 'contaminate’ :
(1) Defile (2) Rehabilitate
(3) Detach (4) Valid

P.T.O.



[A]

53.

54.

55.

56.

Choose the correct plural of the word
'species’' :

(1) Specis

(2) Species

(3) Speceis

(4) Specieses

Choose the correct preposition for the

blank given below :

She had great affection ............. her
grandchildren.

(1) within (2) into

(3) against 4) for

The old man was tired of walking.

The underlined word in the sentence is

used as a:

(1) Participle
(2) Gerund
(3) Noun

(4) Adverb

Choose the correct form of the verb :

Gymnastics ............... my favourite
sport.

(1) 1is (2) are

(3) were (4) do

[14]

57.

58.

59.

60.

Choose the correct option of the

underlined phrasal verb :

We must cut down expenses or we will

be getting into debt.

(1) Reduce in size or amount
(2) Appear

(3) Expose

(4) Rise to the surface

Choose the correct form of the verb

'play’ from the options below :

They since four

O'clock.

(play)

(1) have played
(2) will play
(3) play

(4) have been playing

Choose the correct past tense and past

participle of the verb 'Begin':
(1) Began, Begun
(2) Begun, Begun
(3) Begin, Began
(4) Begun, Began

Choose the correct synonym of the

word 'Pinnacle' :

(1) Peak (2) Pass

(3) Foothills (4) Deep

Level-3/3309



[15]

[A]

HET -1/ PART -1l
g 31e9g-1 / GENERAL STUDIES

[ AEITH% JRGdT, difthsh SATRMRIAT G |MT 319 U9 S1R¥sT< / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : =it ged] & 37 @7 % [ qe98 ST [dweT g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

g "e 10, 12, 15 qO1 18 & o

fefor 8 arer =gAaH oot v @
(1) 876 (2) 900
(3) 981 4) 1024

CH fam AR AND, B P EIA
H AL ERIFND & 921 C 2, a B
3T E &1 91 95 & 7

(1) E
(2) e
(3) fd
(4) @l

fepdl Hishice w1 § 'CERTAIN' &l %2
= 'XVIGZRM', 'SEQUENCE' & %z
I 'HVIFVMXV' &, @ 'MUNDANE'
ST FT FHT BT

(1) NFMWZMX
(2) NFMWMZX
(3) NFMWZMV

(4) NFWMZMV

Level-3/3309

61.

62.

63.

The least perfect square number which
is exactly divisible by :
10, 12, 15 and 18

(2) 900

(4) 1024

(1) 876
(3) 981

A 1s the father of C and D is the son of
B. E is the brother of A. If C is the sister
of D, how is B related to E ?

(1) Daughter
(2) Brother-in-law
(3) Husband

(4) Sister-in-law

In a certain code, 'CERTAIN' is coded
as 'XVIGZRM', 'SEQUENCE' is coded
as 'HVIJFVMXV' then how would
'MUNDANE' be coded ?

(1) NFMWZMX
(2) NFMWMZX
(3) NFMWZMV

(4) NFWMZMV

P.T.O.



[A]

64.

65.

66.

67.

= # 9 F9-@1 I "DICTIONARY"
% e B JAN B B FeT S S
e

(1) RATION

(2) DAIRY

(3) NATION

(4) ACTION

AP, QHFM WE S, R, PH WA &, S, T
FAE R T, QFH A& 2, @ S B AWM
P g ?
() R
(3) T

2 Q
4) P

"BRIGHTER" 915 & 31eRl & fohae TR
fF efIel oy & 2 § ?

(1) 4 (2) 2
3) 1 “4) 3
ar Lot A q [N g
y 5 ’ 7 2y+x
g
1
1 _
(1) -
3
2 =
(2) -
1
3) 3
@ 1
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64.

65.

66.

67.

Which of the following words cannot
be formed by using letters of word
"DICTIONARY" ?

(1) RATION
(2) DAIRY
(3) NATION
(4) ACTION

If P is brother of Q, R is father of P, S is
brother of T. T is daughter of Q, then
paternal uncle of S is :

() R 2) Q

3 T 4) P

How many pairs of the letters does the
word "BRIGHTER" contain in such that
the two letters of the pair have as many
letters between them in the word as
there are in the English alphabet ?

1 4 (2) 2

3 1 “4) 3

If

=i, then value of E_Zy—x
5 7

*
y 2y+x

18 :
(D
()

3)

W= QW Q=

C))



68.

69.

70.

71.

Uk AR H, A g C &% dsr & U
2: 18 Sk AdB & = Fas &
A 3 : 2 B AR ITH F AN HH
1,573 €, a1 Bl fehe & fieim ?

(1) 363 %o
(2) 484 %o
(3) 605 %o
(4) 726%0
U ARH AU Y G 14 a9 g H 9l
g, A 99 dE, IHH AY AW G &

AY 1 A BN A g aaEe g
e 7

(1) 8ad

(2) 10 a9

(3) 12 a9

4) 14 T

e # e Eof demn J1q H
10, 12, 28, 90, 360, 1850

(1) 12 (2) 28

(3) 90 (4) 360

28 TH % USH, 42 ¥ & Ui 9 21 H@®
3 USl @ Uik & IR WX 39 YR o
T S R e gl iR § dad
% & UPR d 9O d@er H U e | al
gl Ut B @ & U A dfeRE
& GE& Bl
(1) 9

(3) 11

(2) 10
4) 13
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68.

69.

70.

71.

[A]

In a business, A and C invested amounts

in the ratio 2 : 1, whereas the ratio

between amounts invested by A and B
was 3 : 2. If their total profit is Rs. 1,573.

How much amount B will receive ?
(1) Rs.363
(2) Rs. 484
(3) Rs. 605
(4) Rs. 726

A man is 14 years older than his son.
After two years, his age will be twice
the age of his son. The present age of

his son is :
(1) 8years
(2) 10 years
(3) 12 years
(4) 14 years

Find the wrong number in the series :
10, 12, 28, 90, 360, 1850

(1) 12 (2) 28

(3) 90 4) 360

There are 28 mango trees, 42 apple trees
and 21 orange trees have to be planted in
rows such that each row contains the
same number of trees of one variety
only. The minimum number of rows in

which the above trees may be planted is :
1 9 (2) 10
3) 11 4) 13

P.T.O.



[A]

72.

73.

74.

75.

76.

A % = B 8 g 4 B A =R C H
REFT &, g @ 30 @ C, 54 fiFfe H
T FaT 2, @ B fheq @y ¥ g
BT ?

(1) 9 e (2) 18 e

(3) 12 Hee 4) 15 MHee

I AR Wie # TEE Td deR

HAM 50% TA 20% <o Sl g, @
T6D S F fbae T gRg BRT 7

€] 2)

3)

10 @eX 39 | 8% UMl &, TEH b
& 3 foamn oo fed gq fee |
Il 4% T& T 7

“4)

N|—= W[
Nk Wl

(1) 6T (2) 8drex
(3) 10@rex (4) 15drex
PIiS sinA—cosA=0 g, ar
sin4A+cos4A HT 7 BT :
(1) 0 2) 1
1 3
- 4) =
(3) 5 4) 1

Tk T, ﬁﬁaﬁgﬁaﬁwﬁ%
g9¢ H 0 F & SEh I8 gl Hl
Wﬁl%aﬂ%ﬁaﬂaﬂ—cﬁ%qﬁﬁ
5 frdt ofa guer @ g & =l B, @
Re} gl § A9 &l T S B
(1) 10 fpH/Aver (2) 12 fHt /g0

(3) 13 Rt /Aver (4) 15 fHt/gver
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72.

73.

74.

75.

76.

A 1s twice as fast as B and B is thrice as
fast as C. If some distance is covered by
C in 54 minutes, then in how much time

will B cover ?
(1) 9 minutes (2) 18 minutes

(3) 12 minutes  (4) 15 minutes

If the
rectangular plot be increased by 50%

length and breadth of a

and 20% respectively, then how many

times will its area be increased ?

) 2)

3) “4)

N|—= W=
Nk Wl

10 litres of milk contains 8% water. What
quantity of pure milk should be added to

this mixture to reduce this to 4% water ?
(1) 6 litres (2) 8 litres

(3) 10 litres (4) 15 litres

If sinA—cosA =0, then the value of
sin* A+cos* A is :

1 0 2) 1

1 3
- 4) =2
3) 5 4) 1

A boat covers a certain distance

o1 A
downstream in — hour, while it comes
2

back in 1l hours. If the speed of the
2

stream be 5 kmph. What is the speed of
the boat in still water ?

(1) 10 kmph (2) 12 kmph
(3) 13 kmph (4) 15 kmph



77.

78.

79.

80.

af¢ fpel FIe AT F 'pit dar na'
ad ‘GH =S &7, 'dar tok pa'
ad ‘o8l AR U7 'tim na tok'
e ‘G g e SE AW Y % g
B9 A= B ?

(1) tim (2) tok

3) na (4) pit

e SO BT, IR-UREH @
‘oiEm’ ‘SRo-uided’ @ ‘SRr @Er
ST B qer 3 U AW off & B, o
‘TAT H FA FHEl S ?

(1) aferor
(3) IW-q4

(2) IA-UREH

(4) S

TF O 3Rl Hl G 4p3 H 984 Sred
W TF IR 3R & d& 13q7 I el
213X 13q7, 119 999 &, @ (q—p) F

qM BRT -
() 8 2) 9

3) 7 4 11

fRu U e w1 dqia wE T
ferel & ufcreare & form wioRiE fEel 6
qEl AH TR G

9#7%2%3%10

(I) Xx++= (2) —+x=

3) +-x= 4) X+=-
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77.

78.

79.

80.

[A]

If in a code language 'pit dar na' means
"you are good", 'dar tok pa' means
"good and bad", 'tim na tok' means
"they are bad". In the same language

which word stands for "they" ?

(1) tim (2) tok

3) na (4) pit

If 'South-East' is called 'East’, North-
West is called "West' 'South-West' is
called 'South' and so on, what will
‘North' be called ?

(1) South (2) North-West

(3) North-East (4) North

A three digit number 4p3 is added to
984 to get a four digit number 13q7. If
13q7 is divisible by 11, then the value
of (q—p) will be :

(H 8 2) 9
3) 7 @ 11
Select the correct combination of

mathematical signs to replace "*' signs

and to balance the given equation :
9*7*2*3%*10

() Xx++= (2) —+x=

3) +-x= 4) X+=-

P.T.O.



[A]

81.

82.

83.

84.

85.

Raarel, ™R 2018 & wREE @« #
o Yeeh ST

(1) &1 g

(2) ST g

(3) fopre Fo7 grEg

(4) Hrmr gfan

frfofaq & & @9-T Tfew afedr J
TIfed e 2l § ?

(1) e (2) FAEE

(3) 3= (4) FIEA

& e Fea SE | 1857 & it
%[5 STERHYT &1 e R

(1) o (2) s

(3) Hard (4) A
SEM-2011 &% SERY W EREe @i
JET FERAT X ©
(1) 75.6%

(3) 84.1%

(2) 65.9%
4) 71.4%

frifaiad & | fF9 T & |1 Cpear
TEF I’ ST | T HT © 7

() A=A gey
(ii) IS
(iii) YT
YREIE]

@& I Gy
(1) ()T (iv)
(3) (iii) T (iv)

(2) ()T (i)
(4) AT (iv)

Level-3/3309

[20]

81.

82.

83.

84.

85.

The player who won the Gold medal in
the Asian Games-2018 :

(1) Neha Goyal
(2) Bajrang Punia
(3) Vikas Krishan Yadav

(4) Seema Poonia

Which of the following rivulets does

not converge into Sahibi ?
(1) Dohan
(3) Indori

(2) Kasavati
(4) Drishadvati

The region in which Colonel Gerrard
led the counter attack against 1857
revolutionaries :
(1) Panipat
(3) Mewat

(2) Rohtak
(4) Narnaul

The male literacy rate of Haryana as per

the census-2011 is :
(1) 75.6%
3) 84.1%

(2) 65.9%
4) 71.4%

With which of the following states, the

"Kalesar National Park" shares its

boundary ?

(i) Himachal Pradesh

(i1) Uttrakhand

(i11) Rajasthan

(iv) Punjab

Choose the correct answer :

(1) @) & (@v) (2) (1) & (i)
(3) (i) & (iv) (4) Only (iv)



86.

87.

88.

Jo JHRW s IR F Frefatad § 4
HH-TT FIT FGT € ?

(1) Yo &M Ml I fods & oHed
e | wewayel iR M |
(2) RN AR B AN SR
ot | WSl ® T SEE @

SIS e o |
(3) 3o PyErl § U% ardes ‘Haer
JeRTIQTT fehaT |

(4) 1952 @ 1956 % @ {9 99 &
g5 © |

‘Fegrz foare A AN & R |
frfeiad wemi WX faem #ifvT

() Wh fagar & T F faaE &g
51,000 &9 & g & S
gl

(b) TE fauar wfear @ aifis M9 UH
TRE B9 § FHH B IR |

SEE § & B-A1 #0978 /8 7
(1) & (a) W B

(2) #ad (b) T 2|

(3) T @ (a) AR T & (b) TEI B |
(4) (a) T (b) I TE |

frfafed & @ ®9-O ®ET 9ERR
A AT $ ST a7 & 7

() = (2) ST

(3) @R (4) @S
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86.

87.

88.

[A]

Which of the following statements

about Pt. Neki Ram Sharma is not true ?

(1) Pt. Neki Ram Sharma played a vital
role in the Home Rule Movement
of Lokmanya Tilak.

(2) He organized a public meeting of

Gandhiji at Bhiwani during Non-

cooperation Movement.

He published a Hindi

'Sandesh' from Bhiwani.

(3) Weekly

(4) He was a Rajya Sabha Member

from 1952 to 1956.

Consider the following statements about

the 'Mukhya Mantri Vivah Shagun

Yojana':

(a) For the marriage of the daughter of
a widow a grant of Rs. 51,000 is
provided.

(b) The income of such widow lady
must be less than one lac per annum.

Which of the above statements is/are
correct !

(1) Only (a) is correct.

(2) Only (b) is correct.

(3) Neither (a) nor (b) is correct.
(4) Both (a) and (b) are correct.

Which of the following crops does not

cover under the 'Bhavantar Bharpayee

Yojana' ?
(1) Sugarcane (2) Potato
(3) Tomato (4) Onion

P.T.O.



[A]
89. Ffafad & d @A-a1 fRE g
geuis (dlo Silo g=go) T & ?
(1) g
(2) =g

(3) HTENYR
(4) 9

90. frifefad = gafed e -

G foram
A. X A% T () FEEA
®R aftead
B. #eX off% Uledad (i) fawar
B Ay
C. HexX 3% Uemad  (iii) 398%
W HeH
D. ke d-HfT  (iv) HE
ECm ATy
7&l % T

A B C D
1 ® @ G 3Gv)
@ ® (@) @) 3Gv)
3) Gv) G G @)
4 (@v) @) @) @

[22]

89. Which of the following is a Painted

90.

Grey Ware (PGW) site ?
(1) Banawali

(2) Balu

(3) Bhagawanpura

(4) Bhirrana

Match the following :
Center District

A. Center of Excellence (i) Kurukshetra

for Vegetable

B. Center of Excellence (ii) Sirsa

for Flowers

C. Center of Excellence (iii) Jhajjar

for Fruits

D. Integrated Bee-keeping (iv) Karnal

Development Center

Choose the correct code :

A B C D
1 @ G G 3Gv)
@ ® (@) @) 3Gv)
) Gv) Gy G @)
@ (@v) @) @) @
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[23]

[A]

AT - IV / PART - IV
TN / GEOGRAPHY

3T - =it ged] & 7 @7 % [ qe9g ST [weT g

Direction : Answer the following questions by selecting the most appropriate option.

o1.

92.

93.

ARl § 8E%d WIOE B dA-A I
YT B © ?

(1) <R
(3) YT

(2) AfuaHEex
(4) T

qRAF 9eH gFRE W SEaiag § 3
HHF-G1 qFET g9 7&7 auiE S @ 7

(1) 99 3@l
(2) IR @
(3) ST Fl &M

(4) 9aq @l f&em

U QI R & T S

(1) &1,9, 9T g
(2 &, 9, W@ T
B A, dw@H
4) Awdqg

Level-3/3309

o1.

92.

93.

Which

measurement of area in maps ?

instrument is used for

(1) Planimeter (2) Opisometer

(3) Pantograph  (4) Eidograph

Which

meterological condition is not shown in

one of the following

Indian daily weather map ?
(1) Isotherms

(2) Isobars

(3) Sky condition

(4) Wind direction

A rejuvenated topography is characterized
by :

A. Khnick Point
Incised Meanders
Valley in Valley
Structural Benches

ey

2

3)

“)

A,B,Cand D
A,Band D
A,Band C
Aand B
P.T.O.



[A]

94.

95.

96.

TR UF A L g

(1) Heve dicil Sereel &l
(2) Ty, gl i
(3) ST e
(4) AT H SEAAE B

freifafed & @ 9RG @ HE-81 A
TP ‘TEHHTE’ F AR 2 7

(1) di=gHr q9e

(2) |ager
(3) ST

(4) TFHT U

foaRoT AMfEl & d@ey ¥ frefaiag § 9

HH-AT FIT FTT & 7

(1) ®RfAfes oy & udw fafy 5
el S 2 |

(2) ®RBAECE  HAERET B TG
qHfes off et S 2 |

(3) TG g9 dUiYdel Ot &m
TN ST Fehel 2|

(4) TRAY SFEAM T AWl @
B B
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94.

95.

96.

'Nuee-ardente' is a characteristic feature

of :

(1) Mt. Pelee volcano
(2) Kilaue volcano
(3) Fujiyama volcano

(4) Mauna Kea volcano

Which of the following landform of

India is an example of 'escarpment’ ?
(1) Western Ghat

(2) Satpura

(3) Aravalli

(4) Deccan Plateau

Which one of the following statements

is not correct about distributional maps ?

Choroschematic method is also

)

known as symbol method.

are also

2

Chorochromatic  maps

known as colour-patch maps.

3)

Density of population can be

shown by choropleth method.

“)

Isopleths are lines of unequal value.



97.

98.

99.

frfafag & @ @9-ar yay Ry @
U e HAEE 99N B i
U & 7

(1) Th A& e ar ig-He

(2) IF-HT

(3) & W A A S-TE

(4) = 98y

Searag e @l ffafaa fafeal § |
HH-81 U AEES G 7@ s 7

(1) w@fes Sa
(2) = 4

(3) B

(4) = @

TEEFNE g &l S B dnd
TE FE ©

(31) 7@ o

(3) we@rE 59 & AN H SRR
(|) AeENIE S H q@O H S
(z) g @1 iR

F&T I F T I

(1) &, 9 T 9 921 2|

(2) o, F, | TN T LN

(3) o, g qA T T 2 |

(4) BaT F T T Tl 2 |
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97.

98.

99.

[A]

Which one of the following is the most
suitable projection for an ideal map of
'Chile' ?

(1) Conical projection with one-
standard parallel

(2) Bonne's projection

(3) Conical projection with two-

standard parallel

“)

Lambert's projection

In the following methods of relief depiction,

which one is not a quantitative method ?
(1) Spot height

(2) Bench Mark

(3) Hachure

(4) Contours

The main factors which produce the

ocean currents are :

A. Planetary winds

B. Variations in sea water temperature
C. Variations in sea water salinity

D. Revolution of the earth

Choose the correct answer :

(1) A, B and C are correct.

(2) A, B, Cand D are correct.

(3) A, B and D are correct.

(4) Only A and B are correct.
P.T.O.



[A]

100. HIRGT HIET ® GUOT ST TAqT

101.

A R T e B TN B B, Fal
AT B I IO -

(1) T aRteeaT JEEEREeT & FEH T
ST 2 |

(@) owE o T 9= T BN
fear T o)

(|) ‘wem] UREeeEr T BN A T
o |

(3) ®T @1 Fo w1, ‘9o W A, H
femmem 6 Sed fagg &8 a9 817

#s :
1 4,
@ ¥,
3 9,
4 9,
IS & fabra & AEEE AgHISH
a9y €
(@) et g () @ ok g A
I |

(@) =@ g™ W g% T # WA
T 1000 HeX FHarg 0¥ faemar
& Y |

Jud d eI
SR
J0d T TR
9, 909 T TN

(|) w Mo ofid 9w |
el foeheq &1 TaT A
(1) o1 O 9 &&l 2|
(2) F T 9 GE E
(3) &, 9 T § | )
(4) 399 9 T T
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100. Examine the following statements and

101.

select the correct answer using the codes
given below :

A. The gaseous hypothesis is based on
the law of gravitation.

B. The term 'Primordial Matter' was
given by Kant.

C. The 'planetesimal hypothesis' was
given by Kant.

D. Kant said, "Give me the matter and
I will build a world out of it."

Codes :

(1) A, B and C are correct
(2) A, CandD are correct
(3) A, B and D are correct
(4) A, B, Cand D are correct

The atmospheric condition appear to be

necessary for tornado development :

A. A layer of warm moist air at low
altitudes.

B. A layer of dry air at higher altitudes
with an inversion at about 1000

metres.
C. Anintense cold front.
Choose the correct option :
(1) A and B are correct.
(2) B and C are correct.
(3) A, B and C are correct.
(4) Only B is correct.



102.

103.

AT H wIdie BAgT Bl el T
¥ gied i g1 G @ T #e
H ST FA BU, F&T IX B =TI
Fifoq

() &, 9, 9@ 3
2 A, 9,809 F
3) 3,9, 309 g

4) T, 9 909 31

I weAHS A9 2 A = 1 R g,
o Feus Re/vesis S (RE) &
BT ?
(1) 1:1,00,000
() 1:2,00,000
(3) 1:50,000

(4) 1:10,000
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102.

103.

[A]

Arrange the following Pleistocene ice
ages of Europe in a chronological order
and select the correct answer using the

codes given below :
A. Gunj

B. Mindel

C. Wurm

D. Riss

Codes :

(1) A,B,CandD
(2) A,B,DandC
3) A,C,Dand B

4) D,C,Band A

What is the Representative Fraction
(R.F)) if the statement scale is 2 cm =

1 km ?

(1) 1:1,00,000
(2) 1:2,00,000
(3) 1:50,000

(4) 1:10,000

P.T.O.



[A]

104. TN feiwar 2 8, 519 ¢

105.

(31) oIt wd @l St T 2|

(7) Fewreeled R @ |

(@) oIS W= & ud HfeesRaR 3o
gl

(z) ofmmer ameal § of=BIRd B |

el fameq 1 =9 i

(1) &, 9 q91 @ &l 2|

(2) &, & 9 T € | £

(3) Fad 1 qAT g T B |

(4) o, @ T F T 2|

Frfafed & & @F-a1 St 9B

Ufedaqy  9RAT TRy [O9FT &
foepfoq 78 T T ® ?

(1) foren
(2) &
(3) @H
(4) gfeaa
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104. The inversion of temperature takes

105.

place :
A. on calm and long winter nights.

B. when the earth surface is covered

with ice.

C. when the sky is clear and

anticyclone condition prevails.
D. when sky is covered with clouds.
Choose the correct option :
(1) A, B and C are correct.
(2) A, B, Cand D are correct.
(3) Only A and B are correct.

(4) A, CandD are correct.

Which of the following GIS Softwares,
is not developed by Indian Space

Department ?
(1) GEO

(2) SMART
(3) SPACE

(4) ILWIS



106.

107.

frfifad &l @9oar & ded w9 H
FaRed HY

(&) 79 &R

(3) Ie AT o

(|) @ 3@

(z) #rm AR

7& dod HH B T B
(1) & @, A q 4

(2) & &, I @A

(3) g d AqNd

4 &, d, sqaH

frrfafad ®est @ gheT FHifT ¢

(31) =7 "7 W Hor oM & @Y
ferTed & T &l & |

(@) g1 dm g9 @ e @
fRrenfcres A SFeRT Yl |

(|) 7o €M der oWEc & faves
e & 1A & 2 |

7&7 AL A AT BT
(1) &ad o1 qar 9 T2 2|
(2) #4909 T 9 Tl ¢ |
(3) &, I T | W 2|
(4) Faq A T 9 T 2 |
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106.

107.

[A]
Arrange the following in increasing
order of salinity :
A. Dead Sea
B. Great Salt Lake
C. Lake Van
D. Black Sea

Choose the correct increasing order :
(1) D,C,Aand B
2) D,C,Band A
(3) D,B,Aand C

4) A,B,DandC

Examine the following statements :

A. Main central thrust separates the
Greater Himalaya from the Lesser

Himalaya.

B. Main Boundary fault separates the

Lesser from the

Shiwaliks.

Himalaya

C. Great Boundary fault separates the
Aravalli from Vindhyan System.

Choose the correct answer :
(1) Only A and B are correct.
(2) Only B and C are correct.
(3) A, B and C are correct.

(4) Only A and C are correct.

P.T.O.



[A]

108. U% IT A1 AR fel TAghoE e @

100.

110.

Fretfoiad & & el go& e 2

(1) 53

(2) 53P
P

(3) 533

(4) 53 P/2/4

Td FAE HOT W P 5 @, b A
Tel &, P ©

(1) 999 aa

(2) 9 A

(3) THEHd g

(4) AT ae

‘POl WM S Al & & A 16
fpflo (10 Hi@) #@IET oT@9H &9 i
WA B 217 gARAfT & I @ W
fepee egert fepam e ?

(1) St
(2) B
(3) 9
4) wd
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108.

109.

110.

The correct Index No. of the following
one-inch or quarter degree topographical

sheet 1s :
(1) 53
2) 53P
P
3) 533

(4) 53 P/2/4

If the two limbs of a fold are parallel
and inclined at same angle but not

horizontal, is known as :
(1) Isoclinal fold

(2) Recumbent fold
(3) Monoclinal fold

(4) Overturned fold

"There is a 16 km (10 miles) thick layer
of in equal density below the areas
having similar density." Who expressed

this view about Isostasy ?
(1) Joly

(2) Holmes

(3) Pratt

4) Airy



111.

112,

113.

Frefafad & & #9-a1 F F 9o
(wdfer) 7&f & ?

(1) FrTeii=

(2) GE

(3) fafer

4) I R

aged Ufedi # fayaq e 4@ gdi @l
A &el HH G

(1) fgeca 7=, Su-geE =, Sae

I=d, YA I=a

(2) e =, SUwT S, gAE
I, IU-gar

(3) gag T, I-YAE [, I
I, faad e

4) fayadrg =, IS J==, IU-gAE
1, gdia 3=

ar Haed ufem H ol fasawer &
@ T ©

(1) sifepeT IeaE

(7) = der faseeT

(\) g e

(3) SuEmE
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111.

112.

113.

[A]

Which one of the following is not an

Atoll ?

(1) Kwajalein
(2) Funafuttie
(3) Bikini

(4) Great Barrier

Choose the correct order of pressure

belts from equator to poles :

)

Equatorial low, Sub-polar low,

Sub-tropical high, Polar high

(2) Equatorial low, Sub-tropical high,

Polar high, Sub-polar low

(3) Polar high, Sub-polar low, Sub-

tropical high, Equatorial low

(4) Equatorial low, Sub-tropical high,

Sub-polar low, Polar high

Major elements of Data Analysis

Process of Remote Sensing are :
A. Data Product

B. Interpretation and analysis
C. Information products

D. Users

P.T.O.
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114.

115.

F&7 I =T &Y

(1) ®ad &1, § a7 9 T2 2|

(2) Fad 1 qAT g T B |

(3) Fad o1 qOT | T 2|

4) 9, 9, § 941 € |2l |

TeX ST &% A Y g T

S €

(1) Fad ATER dHel & Ter

(2) el ATER GHRT & TeR

(3) e BARG T HEA F TR

(4) EOORG 9 Td SRl G,
Ml % "R

T% FAHE H A oTE-g doEE 15°
dfede 9 oAfts ud dmferd omEdr 40%
9 3, A I8 YEid & B ¢

(1) ThIET Steraryg
(2) il ScErg ®:
(3) I Sy H
4) B SErg ®
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114.

115.

Choose the correct answer :

(1) Only A, B and C are correct.

(2) Only A and B are correct.

(3) Only A and C are correct.

(4) A, B, Cand D are correct.

The absence of deep focus earthquakes

found along :

(1) Only divergent boundaries

(2) Only convergent boundaries

(3) Only transform fault boundaries

(4) Both transform fault and divergent

boundaries

In a climograph if wet-bulb temperature
is more than 15°C and relative humidity

is less than 40%, it represents :

(1) Scorching climate

(2) Muggy climate

(3) Raw climate

(4) Keen climate



[33] [A]

116. fy=fafad § § FH-a1 ﬁﬁﬁﬁ 7& 77 116. Which one of the following is not

matched correctly ?

5(6”?7% _  BfrE ame Land Form — Forming Agent

(1) Blind Valley — Karst (Under-
(1) oFef ot — e (Y o)

ground water)

2) TEHE -~ - (2) Pediment — Fluvial-desert
(3) S & A (3) Basket of egg
Wﬁfﬁ S topography — Glacier
(4) Roche
(4) WA G~ 9 moutonnee — Aeolian
117. %4 aaﬁaww@aaaé F FIT B - 117. Which Scientist/Geomorphologist stated
‘T A oNfE H U B, T T H AfT” ? "No vestige of a beginning, no prospect
of an end" ?
(1) =go o a¥ (2) T & (1) W. M. Devis (2) James Hutton
3) U (4) dEw (3) Penk (4) Lyel
118. ffafed & & F-a1 ﬁaﬁﬁ TEE 7 118. Which one of the following is not
FTET a5 matched correctly ?
(1) I9TF TR - e Vegetation Area
qrd (1) Tropical wet
2) I %l@a ; evergreen — Western Ghats
?‘Iﬁl?d:l'lg (2) Tropical dry
3) '{:F:[Qf ? C‘FH_QL f i: f 7 evergreen —  Coastal Tamil Nadu
ng (3) Wet temperate — Nilgiri &
qgl-%—q‘l‘r Annamalai Hills
(4) Sub-tropical -  Chota Nagpur plateau
4) YT g — B
“) [+ W;H‘ X ary

Level-3/3309 P.T.O.



[A] [34]

119. ffaied § & F9-1 0% <6 9dd & 119. Which one of the following is not an
I 7 & 7 example of Block Mountain ?
(1) =% BRE (1) Black forest
(2) drE| (2) Vosges
(3) FEa-AarT (3) Sierra-Nevada
(4) HiHT (4) Caucasus
120. §E -1 0 G - 11 & e & e A 120. Match List - I with List - IT and select
G ™ @ F: I B gq, el I correct answer using the codes given
H T PO - below :
gl -1 QE - 10 List - I List - IT
(77”3?/ ) (Qﬁﬂi"_ﬂ ) (Sphere) (Phenomenon)
(BT) STITHTS T (i) ofeg O A. Tonosphere (i) Contains
EI ozone
(EI) HHAHIS (i) s aat B. Stratosphere (ii)) Radiowaves
BRGIRG reflects
(H) LR (i) 9HFE dM C. Troposphere (iii) Normal lapse
Uad X rate
(3) HEYHISH (iv) Femda 7y D. Mesosphere  (iv) Noctiluscent
clouds
7S : Codes :
& q q Q A B C D
I © G G 31v) 1 G G G (Gv)
2 a @©® @y @) 2 @G G G (@Gv)
3 @Gv) ) G @ (3) @Gv) ) @) @)
@) @i Gv) G @) @ @) Gv)  G) @

Level-3/3309



121.

122.

123.

Th g9 & ABR H S S e
HHol MR AR geR o FH @,
ST (Sg-fef) wefid #3a ©

(2) givemesr &
(4) %=1 B

(1) SN &

(3) 9T @

XA § Fi-oeary e /e @
e 3T €

(31) FRATT Ieqre Bl GERAT |
(3) @ @ o H gha BT |

(|) ok ot FEler ISR S
AT |

@8l el & AT BN
(1) %ad & q&r 9

(2) &, 9T 4

(3) @ae A TJA 4
(4) dad A

o Silo AN & THRIT e /vard

3 ffaiea fremt & adeer % -

(31) oAfepey warll BIE g 9% FeROr
FA B

(@) wfeamd gEst 1 g H B9 ggeH
F 2 |

(|) yooM @ A ORI, SAfE dedaX
TeTeRT I Rl 2 |

(z) omer ARl @ gam § TR
Jar P e F9 ek 2 |
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121.

122.

123.

[A]

A Bell shaped pyramid tapered at top
and bottom represents the population

(age-sex) of :
(1) Japan (2) Bangladesh

(3) India (4) Kenya

The primary objectives of agro-climatic
regionalization/regions in India are :
A. To optimize agricultural production.

B. To increase farm income.

C. To

employment.

generate more rural

Choose the correct objectives :
(1) A and B only

2) A,BandC

(3) A and C only

(4) A only

Examine the following laws of migration,

advocated by E. G. Ravenstein :

A. The majority of migrants go only a

short distance.

B. Females are less migratory than

males.

C. Each current of migration produces

a counter-current of higher strength.

D. The natives of towns are less

migratory than those of rural areas.

P.T.O.



[A]
el i @1 = Y
(1) o1, @ aa g
(2) o, F AT
(3) o, gqAN A

4) ¥, aqa <

124. 9RGY el & an d fFr=fafad waei

T gL B

(1) TR gt et @ | G B

(@) o fafzt @ gom & @wex
A iR g ¢ |

(/) wewEe ffgat dre wd ogfitEm
qTE 2 |

() formera wc fafeat oftoea iz
2l

7&7 AL A A BT

(1) %ad 1, a1 9 921 2
(2) o, 9, T JqNET T L

(3) %ad 3, 9 qA T T 2|
(4) %I g, 9 qI1 T Gl 2 |
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124.

Choose correct laws :

(1) A,CandD

(2) A,BandD

3) A,BandC

4) B,CandD

Examine the following statements about
Indian soils :

A. Regur soil is derived from the

Deccan Lava.

B. Khadar soils are more clayee than

the Bhangar ones.

C. Laterite soils are rich in iron and

aluminium.

D. Himalaya mountain soils are

mature soils.

Choose the correct answer :

(1) Only A, B and C are correct.

(2) A, B, Cand D are correct.

(3) Only A, B and D are correct.

(4) Only B, C and D are correct.



125.

126.

127.

STl S 1 HMEe? Heardl 8 | I8
WM % BH-9 TN TRy ¥ orafked

27
(1) Bl (2) fement

(3) & @) AL

IR F AR sERely R @
ATER ol wered I IAE H EEH
yREeT g @1 FEem ©

(1) STEARTN
(2) v ST
(3) eEHifen
(4) STEEICH

SE FET (30° GE AwR) O
AT & 12 & &, A A= F T B

(1) 2P.M.
2) 10 AM.
(3) 1P.M.

@) 11 AM.
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125.

126.

127.

[A]

Osaka is known as the Manchester of
Japan. In which industrial region of Japan

it is situated ?
(1) Hokkaido (2) Kinki

(3) Kanto (4) Kyushu

As per Weber's theory of industrial
location a line of equal transport cost

for any material or product is called :
(1) Isodapane

(2) Critical isodapane

(3) Isotim

(4) Isotone

When it is 12 Noon in Cairo (30° Eastern

Longitude) the time in London will be :

(1) 2P.M.

(2) 10 AM.

(3) 1P.M.

@) 11 AM.

P.T.O.



[A]

128.

129.

fasa o1 999 T AT IS GSF Hedh
fFA 3 d 8 7

(1) 9=

(2) G T FHRB

(3) 9”d

4) &4

ey @ dw | e,

fefafeg & @ #9-8 @ |l W
amenfg B 7

(1) awget &1 UREX
(3) agell @ 3=

(|) Suiq gefaar

(z) e gead
ACERIEINCRE T
(1) & o 9

(2) M A

(3) 9 qar &

4) 9aar <
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128.

129.

Which country has the world's longest

and largest road network ?

(1) China

(2) United States of America

(3) India

(4) Russia

Christaller's Central-Place Theory is

based on which two principles of the

following ?

A. Range of Goods

B. Threshold

C. Marginal influence

D. Functional influences

Choose correct option :

(1) AandB

(2) AandC

(3) Band D

4) Cand D



130. SFOFT 2011 & AFEAR Tl /EE-

131.

T SRSl F HE-AT W STASE
SEEA, & SAed H adiad Jia

T § 7

(1) TEFET T AWM

(2) TerEg Ter HeRe

(3) BN TG T el U1 {HeieA
(4) WA T e

STOET 2011 H, 9Rd H, TS &l
frfafeaa gl 1 aieeT &Y
SHEen ¥ TRE Seaen
31.16% €|

(a7) et

(3) watfyew TwHEd T @ |

(7) T S @ waitE dhae
TR | &

(z) @98 F9 TP T fRR 7 |

el waftr & =E H

(1) &1, 9, 9 g

2) &, T T

3) &, I qA T

4) 3, 99 g
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[A]

130. According to Census 2011, which pair of

131.

States/Union Territory has the highest
percentage of tribal population to total

population ?
)
2
3)

Lakshadweep and Nagaland
Lakshadweep and Mizoram
and

Dadra and Nagar Haveli

Mizoram

(4) Lakshadweep and Meghalaya

Examine the following trends of

urbanization in Census 2011 in India :

A. Urban population was 31.16% of

the total population.
B. Goa is most urbanized State.

C. Largest concentration of urban

population is in Maharashtra.
D. Least urbanized State is Bihar.

Choose correct trends :
(1) A,B,CandD

(2) A,BandC

(3) A,BandD

4) A,CandD

P.T.O.



[A]

132, IFOET AR AREN & THIhHE GHTO

133.

134.

e & ogaR frefied § 9 de-a

e AR 787 & 7

(1) s I - T= o9 &, IA
g &

Q) FRTI - I T9 KX, §g
Ied [ Hedl g

(3) e Ml — &l g8 &9 &%, 99
W A

@) IV - 9 R/, 7§ T

FH

AR Sy & BT & dU6T H As'
SIqarg g S @

(1) HFHT de W

(4) HT T |

arg §, fy=faied Sam § 9 fe-ar
SENT U T Haifeen ST § ?

(1) «le ud g
(2) & wd g
3) I+

(4) M= =1
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132. Which one of the following stages is not

133.

134.

matched  correctly  according to

Demographic Transition Theory of

Thompson and Notestien ?

(1) Stagel —  High fertility, high

mortality

(2) Stagell —  High fertility, mortality

high but declining

(3) Stage Il —  Declining birth rate,

mortality high

(4) StageIV — Low birth rate, low

mortality rate

In Koppen's classification of Indian

climate, the 'As' climate is found along :
(1) Konkan Coast

(2) Malabar Coast

(3) Coromandel Coast

(4) Canara Coast

Which one

industries is the maximum consumer of

among the following

water in India ?

(1) Iron and steel
(2) Paper and pulp
(3) Textiles

(4) Thermal Power



135.

136.

137.

AR & [eciad ded & W faeEr
HIfTT :

(&) =g

(@) A

(|) A /A

(3) g

SEET # | HM-4 T e &9 A
g

(1) o, gqm 4

(2) o, T

(3) 9, @ qq g

(4) 31, 9, FAA T

P T 3@ ARG F A A
% J@ SUEE & &l el © 7

(1) 75 | (2) 50 |

(3) 100 94 (4) 125 94

g g & SRR/
FIERETE] T 98 foreR 9X oM drd
q

(1) fafw
(2) o
(3) od

(4) &dveq
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135.

136.

137.

[A]

Consider the following protected areas

of India :

A. Bandipur

B. Bhitarkanika
C. Manas

D. Sundarban

Which of the above are declared Tiger

Reserves' ?

(1) A,BandC
(2) A,CandD
(3) B,CandD

4) A,B,CandD

Which isohyet separates major Rice and
Wheat producing areas in India ?

(I) 75 cm (2) 50 cm

(3) 100 cm 4) 125cm

Within Human Geography the term
‘Behavioural Environment' was brought

to prominence by :
(1) William Kirk
(2) G. Taylor

(3) Febvre

(4) Huntington
P.T.O.
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138. ‘HYH @’ YT Hl

139.

(1) waifes I B g |
(2) ITEE A AEET F STEEEA |

(3) el Arifee &= 4 Ry W g |
I g 9gE ) & &
e aret Y |

(4) FramErd feemett @1 TN Y@l g
e |

Tfde SUEl & SR H Frefrad Fee
T LE HIT

(%) g€ @ 36,000 fRAT @ G/
AR X T R S g

(3) gt & go e & #@E Rem d
qREFHTT & ¢ |

(|) g T AT g & @ el
2l

(3) wh SwE gl & Yo (aM9) AN &
&% Tl ¢ |

7el Bl & AT A
(1) %9 3, g q1 4
(2) #ad A, § T1 &
(3) @ad A, g T &

4) &, 9, 9qa &
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138.

139.

'Isochrones' shows :

Trend of maximum traffic.

ey

Communication of travellers and

2)

railway.

(3) Lines of equal travel time from
given point across a geographical

arca.

of traffic directions

“)

Depiction

through coloured lines.

Examine the following statements about

Geostationary Satellites :

A. These are placed at an altitude of
approximately 36,000 Km.

B. They revolves in the same direction

the earth rotates.

C. Their angular velocity is same as

the earth.

D. One satellite can cover Y2 (half)
part of the earth.

Choose correct statements :
(1) Only A,Band C
(2) Only A,Cand D
(3) Only A,Band D

4) A,B,CandD



140. ‘A9 qRRYfH’ 79 SR HA Aw

g
(1) e
() T

(3) Teo Tao

(4) A

141, frefafeq 1 gafa & qn d= R
T g FH TAN Hd gL, G& I A

T FY

71/ STTETT gl
(1) amaE (i) To o Ay
(3) T SURT (i) o ufor
(|) a= (iii) ST Trede
(3) FmedfeE  (iv) Uew e
7T

¥ I @ T

H a @  av) (i)
2 a @  a) (@)
3 O G Gv) >
@ vy @) G @
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[A]

140. The concept of 'Human Ecology' was

put forward by :

ey

2

(3) H. H. Barrows

“4)

Hartshorne

Ratzel

Wolpart

141. Match the following and give correct

answer used codes given below :

Name/Concept

Umland
Urban fringe
Conurbation

Megalopolis

Codes :

(1
2)
3)
4

A B
i @
i @
1 )
Gv) (i)

Propounder

(i) T.L.Smith
(i1) Andre Elliks
(iii) Jean Gottman

(iv) Patrik Geddes

C D
(v) (i)
(i) (iv)
Gv) (i)
i @

P.T.O.
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142.

143.

g @RG-SR B gdl @l
Tieaed X W 81 3@ AT & F
YT B 7

(31) 7= &1 SREA & FG F FA dAq
TEEIAHT H A H HEH® 8 |

(3) 7& TR B T G W ¢ |
(|) zaa® AT @ gfe @ ST B |

(z) za@ @Sl # AU g agd
afaes & |

7&7 A A A BT

() &, g q 4

(2) &, T e

(3) &ad A a1 |

4 &, & qaae

a9 o % FN 9 S e @

AR, e Bred @d 9ol ared
EAGICEE

(1) 9% I ¥
(2) HEa IV H
(3) W@ V H
(4) #@ar VI
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142.

143.

Government of India encourages the
cultivation of 'sea-buckthorn." What is

the importance of this plant ?

A. It helps in controlling soil erosion

and in preventing desertification.
B. Itis arich source of biofuel.
C. It has nutritional value.

D. Its timber is of great commercial

value.
Choose the correct answer :
(1) A,BandC
(2) A,CandD
(3) Only A and C
4) A,B,CandD
According to Von Thunen's Agricultural

Land Use Theory, farmers followed the

three-field system in :
(1) Zone III

(2) Zone IV

(3) Zone V

(4) Zone VI



144.

145.

146.

R 3 @ e gaf 7R ?

qFT - T
a1y
(1) oefes - B, B9
) fadme - fafmi,
P
() JaFE - | A
4) Tgd® — T e,
i e

SO 2001 &1 Gl H, SR 2011

¥ 06 Mg @ & 99 gy H
Haiies HH g

(1) 57 Td R §

(2) = 4

(3) UoE H

@) 7o ¥

frefafed @ #9-91 9 9Rg d

UG SEN B @) Ui H
g7

(1) ¥, L, FgY, HUGE
(2) Ege, TR, He, FGE
(3) e, A, T, TR

(4) PRIYE, L, AT, AEs
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144.

145.

146.

[A]

Which one of the following is not

matched correctly ?

Sector  — Economic
Activities
(1) Primary - Agriculture, Mining
(2) Secondary — Manufacturing,
Engineering

(3) Tertiary Services industry

(4) Quaternary — High level decision

makers, policy makers

In Census 2011, in comparison to that in
Census 2001 the highest decrease in sex

ratio of 0-6 age group was in :

(1) Jammu and Kashmir

(2) Haryana
(3) Punjab
(4) Gujarat
Which one of the following sets
represent the Aluminium industry

correctly in India ?

(1) Hirakud, Renukoot, Mettur, Koraput
(2) Hirakud, Raipur, Mettur, Koraput
(3) Renukoot, Mettur, Raipur, Bernpur

(4) Koraput, Bernpur, Mettur, Hirakud

P.T.O.
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147.

148.

149.

150.

TSl Sl T AR A Fewayel
%S qA/FA I IAEH 8 E

(1) SiRT & (2) S &
(3) ANUA F  (4) AU B

qd ¥ @9 & U 1000 @ R &
T g |aifeE § ¢

(1) Ter ud ey H

(2) T v o §

(3) ST Td o

(4) U TE qieEH S

A AR i bl e gt

P A& R

(&) 7' v=a faQiliga Ao FH &
yfceRT B © |

(3) o= T T IUSI |

(|) i g |

(z) fcpear |

&gl fasioarat #1 == &Y

(1) 1,9, 9

(2) ®ad &, & qAqT &

(3) %Al A, g TAT &

(4) &I A, g T H

ud g g Rae-2018 H, ARG
T o

(1) 131
(3) 132

(2) 130
4) 129

[46]

147.

148.

149.

150.

Maracaibo Lake and Orinico Basin are
important crude oil producing areas of :

(1) Brazil (2) Colombia

(3) Venezuela (4) Argentina

The highest density of Railway per
1000 sq. km. area in India is in :

(1) Goa and Assam

(2) Goa and Gujarat

(3) Punjab and Gujarat

(4) Punjab and West Bengal

Examine the following characteristics
of the Mediterranean Agriculture :

A. It represents the commercial

agriculture of high specialization.
B. Cereal and vegetable cultivation.
C. Limited animal husbandry.
D. Viticulture.

Choose the correct characteristics :
(1) A,B,CandD

(2) Only B, Cand D

(3) Only A,Band D

(4) Only A, Band C

In Human Development Index Report-
2018, India ranked :

(1) 131 (2) 130
(3) 132 4) 129
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6.

Ul b SR, SR UFh A HUiRd @™ Bl dret /N
dfd wrge 9 ¥ giaar AT g, o fs A e

TR
O @ ® @

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black/Blue ball point pen
as shown below :

© @& © ®

The answer will be treated wrong, if it is marked, as given below :

O ® & >

If you fill more than one circle it will be treated as a wrong
answer.

ERT T T3 SR Tad AT SO, Ife SR dTel
@ﬁaﬁﬁﬂwﬁmﬁ%

O R & @
I T A ST Wl Bl MR T & Al 3BT SR Tod
HET ST |

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LIS T @ forg R U AR Reedt 3 9 Sfd fdwen & folg OMR STR 99@ &R &ad Ud gd & & g4 aRE el / Blet

dfcl Wrse 9 9 W TP IR IR 3ifhd P B 9IS S ISl T8l S Fbal B | (Out of the four alternatives for each
question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not allowed to be changed.)

el gHARad o {6 59 SR 45d B Aiel 9 WY Td I R BIg 31 e 7 M | 3ngedi =1 el SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

TA—YRATHT /IR U5F H f3Q T HHIG BT el el da F gwdeR aic H fod | (The candidates will write the correct

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

gl B URIET B/ BeT H YA UF AR UgAM U & SfIRE Bl THR B qreadEd, gfad a1 sxifoiad drTel 3
Ufedf, SR, AaIgd WH, Sdgiid UG AT B 3 UBR B GEEH DI of S IT STANT HRA DI AT 8T © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PRIRT GAdETH BT AU IR UAB QU 1 v AR A€ R SEART BIER [Py 97 angefi uden g 7€ v | Ay
el el 1 A IR EWER A1 W BWER el by A1 g AMI SN fh S99 SR U3d 8] dlerl & AR I8
Tfad | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat grr 9 w19 & o &1 feme
wrrmmélw@m%wﬁwwmmmwmﬁﬁw@ﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U IJDT AR SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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